FERAHMDERA

LT LU BERABEZRE2T 2L BETHHEMABHTRKX 19 1BV TIHE
A & Lo FIHE IHMICKH L TRED Z &,
(1) Lo AR 26 AR AL, 2% Lo E 2G4 1,000 530 3
LU CHZEE T B2V
Q) Yo —8HoEMICTHELIEREOAEIT. RICHET 28a a6 L THLHE
ol SR AAY i}
T OMHEEY O ER YR EY O EEICK T A mE oS %
e U T, 1,000 0 4% F L CTH-H
A YA O T B 7R oD g IE 7R B A AR IS Y LA O SE SRR A RS
LEMEBEOR S LR L THLABIC, 1,0005 0D 3 23k L THLHE
(3) WICH T H2HBRTRET I2HGOMEABO FIREIZIRD LBV,

M & fil Bk
Uy IR 7R A H# 450 1 (1 /)
HEh AR (RN RE) A% 900 M (1H)
BB e (A aeiE) H# 400 M (1H)

[5 & 4 1]

[ 5% £ o> JiE IE 22 RE A 4H ) 13 83,000 M/ni & %,

(YR O E 2 R4 LT AFLEA AR EFE WK 15)B)ICB W THEEE N
RETLIERELT D, (FRIHAEXRBE. UFEREDSMAEMER. £ o fh B %
BEIIEER D, )

[ > — 0 % 5 9 2 % & o &5 6]

<Al 2>
N K (N TR (f51) 100,000 nt
CEERERFECHEMTIRESE  (F) 100 m



- A F% D T 4 T FE (1) 20,000 m
— AR O 2 B e o AR
20,000 nif +~ 1 (MKBEEOHFEDOE S VER) =20,000 ot
— At AR O A T A6 B e il oD i IE 7 B Al AH
83,000 [ /nf X 20,000 nf=1,660,000 T

- i B 0D 3 IE 72 B Al 46 (1) 10,000,000 F
<HA>
(E#1R)
10,000,000 FFJ X100 ni/100,000 ni=10,000 T ([ &8 <)
10,000 FH X 4/1,000=40,000 1 (H K& EiF) « « « (A)
(1 #f%)

1,660,000 T4 X100 ni/100,000 ni=1,660 T/ (M A8 <)
1,660 T4 X3/1,000=4,980 4 (M ARt L) « « « (B)
= HELO TIREE (A)+(B)=44,980 M



